
6

5

3

4

2

1

 2
50

 
 8

50
 

Ground level

Pos.
no. Qty. Part Article name Article number

6 2 Torque nut M12

Mounting kit 
Leon/Arc

51940000
5 2 Washer D3 M12

4 2 Washer M12

3 2 Hex bolt M12x150

2 2 Lightweight concrete foot Lightweight concrete 
foot

29500270

1 1 Leon Sheffield Stand / ARC Stand Leon Sheffield Stand 
/ ARC Stand

See table below Article numbers Leon sheffield stand 

C-C Crossbar
Article 

number 
(galvanized)

Article 
number 
(coated)

Article 
number  

(not 
standard 
coated)

Article 
number 

(Stainless 
Steel)

600 With Crossbar 36900000 36900005 36900006 36910000

900 With Crossbar 36900010 36900015 36900016 36910010

1200 With Crossbar 36900020 36900025 36900026 36910020

600 Without 
Crossbar 36900100 36900105 36900106 36910100

900 Without 
Crossbar 36900110 36900115 36900116 36910110

1200 Without 
Crossbar 36900120 36900125 36900126 36910120

Article numbers ARC

C-C Crossbar Article number (Stainless Steel)

600 With Crossbar 36920000

1200 With Crossbar 36921000

600 Without Crossbar 36920100

1200 Without Crossbar 36921100

1

Mounting instructions - Concrete feet

10-09-2024 Rev. 0

Leon


	Sheet1
	Drawing View1
	Detail View  (1 : 6)
	Drawing View3
	Drawing View4


